
Lec2: ��K8

1. �Ä”pressure”êâ,Ùkü�: temperature Úpressure. �ÄXe¯K

(a) �y¶�pressure, x¶�temperature�Ñ:ã. *	ùü�Cþ�m´�5�´�

�5'X?

(b) ¦^Xe��5'X:

y = (0.168 + 0.007x)20/3

¦^Xe·-òd­�V\�Ñ:ã¥, �*þ´Ä[Ü�éÐ?

curve((0.168 + 0.007*x)ˆ20/3), from=0, to=400, add=TRUE)

(c) ¦^Xe·-O�í�

residuals <-with(pressure, pressure-(0.168+0.007*temperature)ˆ(20/3))

�í����QQã, ´ÄÑl��?

(d) épressure ê��C�y3/20. ,�^C���ê�étemperature�ã. ´Äk²

w��5½��5'X?¦^¼êabline()��^ÏLù
:���.(¦^(a)¥��åÚ�

Ç.)

(e) �ù
ãV\��IK, ¿ò(b)¥�¼ê'X(êÆúª)V\�(b)¥�ã¥.

(f) ¦^mfrow()½ölayout()òXþ¤kã|�3��ãþ.

2. (a) ���¶�directpoly()�¼ê, ^5O�Xeõ�ª��

P (x) = cnx
n−1 + cn−1x

n−2 + ⋅ ⋅ ⋅+ c2x+ c1.

ÙCþ�xÚõ�ª�Xê. (�T¼ê�±é�þx�£���þ, Ù�dõ�ª¼ê

3x�©þ?���¤.

(b)é'���n, �±ÏLXe�k�Ç��{(Horner’s Rule)O�õ�ª3x?��

1 -an ← cn.

2 éi = n− 1, ⋅ ⋅ ⋅ , 1, -ai = ai+1x+ ci.

3 �£a1. (d=�O��P (x) �.)

���¶�hornerpoly()�¼ê¢yXþ�{, ÙCþ�xÚõ�ª�Xê. ¿5¿�x´�

��þ�, (@hornerpoly()¼ê¬�£���þ.

(c) éXþü�¼ê��1�m?1'�. AO,¦^Xe·-

1



system.time(directpoly(x=seq(-10, 10, length=5000000),

+ c(1, -2, 2, 3, 4, 6, 7)))

system.time(horner(x=seq(-10, 10, length=5000000),

+ c(1, -2, 2, 3, 4, 6, 7)))

�)º(J. þã'��õ�ª�Xêé��¬No�? 'X, Á�eXe�õ�ª

P (x) = 2x2 + 17x− 3.
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